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For eating a 77¥9% one receives lashes six times  — ww AP YN

Overview

»aXR ruled that if one ate a 7v7¥ he receives six mphn for the six IR
associated with eating a 77v7X. There is seemingly another 2105 which should
add another X% concerning eating a nv7X. There is a dispute between "9
and NMdOIN as to why this XY is not included.

- ID’\M‘I‘P: 2HNIT RNT OI0NPN VI’

>'"w9 explained, concerning that which is written in 2°@27p nwA2, that -
— 92 NNIRND YININ TUN D2) 91929 NNNAL DIV NN ISPYN DN

‘You shall not abominate your souls with the cattle and the birds and all
that crawls the ground, etc.’; -

— NV 2905 RYT 99990 DIN1HIAT NP YN NY

He does not count this prohibition of %¥pwn %X as a seventh X% for eating a

7y1x, for this XY is concerning larger animals since the term y=w is not
written in this P05, and a 7y7¥ is a yW. And >"wA explains -

— 0P 2291 1XYW 27 DY NIN NN 19N NIND 1) NINY 927 NIV PU

And the expression 79w refers to something which moves on the ground,

but it cannot be seen, because of its smallness, unless it is creeping.

Therefore since the term 9% does not appear in the P09 of 1Xpwn %X, we assume that it is
not discussing (small) insects, but large animals.

mooin disagrees with >"wA:
— YNIN Nt ZNUNIn non 9, 192W9T (:3,03 pyTiav) N 7T PH92T NYP)H

And there is a difficulty with *"w75 that only y W refers to creeping
animals, for in nin» '7 P95 we interpret the verse of nw»1n7 7o ©21 to

refer to the snake -
— MM Yy ‘[5111\’) YN 90 UNIHN 9292 293 DN NYWIINYT yIavn

This indicates that the term mws»9 is also used for something which
slithers like a snake that travels on his stomach. The question is that in the
P09 of 1XPWwn 9X it mentions FNTRT WIAIN WK 952); the term wwn should include
creeping insects, why therefore is there not an additional X7 for 797% from the P05 of HX
WPWN.

!'119,5 X9p™. The 100 reads: 7n722 D3°NWDI DR WPWN K21 A0S KAV NPT P ARNLL 77707 79727 172 anb1any’
JRALY 0% N9737 WK TR WRIN WK 9021 I
% mo,% wxN2. See “Thinking it over’.
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mooIn offers his explanation why the W% of 1¥pwn %X is not added on:
—*DO89Y /N3 599N PRI NINDT W7ISYNINT APYS 290 NP
And the w"1v97I87 "1 answered; that oD of Xpwn X is discussing
specifically the eight 2sx9w -
— 21091 9357 99 D721 (0w 3,10 97 N SWTP P93 NYIYNA 199INT
As the X713 states in 579%p2 noon in mam swp 99 that the P05 of 1Xpwn X

is discussing creatures that are separated from you -
$DINNV 1Y DINIY /N 139N NHLY DY INDTAN TUN NPT NOYDA 29NHT

For in the end of the P05 of WWpwn X it is written Xau> 229 *n97a7 WK
(which I have separated from you for they are N»wv»), and this is

referring to the 2°39w 'm which are X»u (when they are dead); as opposed to
other insects which are not Xavn (even) when they are dead. The 7¥1X is not one of the '
¥ W, therefore it is not included in the X of 1XpwN K.

Summary
*"w1 maintains that the term w7 n would not include a v W, therefore the

P09 of 1¥pwn HX (which does not mention yw) cannot apply to a 7v7% which
1s a Y. According to mdoIN the term wnA does apply to X w, however the
P09 of 1¥pwn 9X cannot apply to a nvAx, since it is specifically referring to
the 2°%7W 'm only (and not to a Ay7X).

Thinking it over

moon proves that the term (N)wmn refers to 2°x7w as well since the XA
interprets the term nw»77 7°0 931 to mean the wnl who is wmA and slithers
113, However that 109 is written before 7"7v Xun when the wnl walked
upright. Indeed the X3 in 177710 which M90IN quotes, says concerning this
w7 that 27w 72 7aRW 173 wnw 9y Han; indicating (seemingly) that this P10
is before 751y xur! What is moon proof?!°

3 The w"P97R7 " is referring to the words of 7n7R7 WD MWK 2521 in this P105.

*In 5-00,%° (rnw) X the 711N mentions eight 0°¥ W which are Xnvn (when dead). No other o8 W are
h9alvlaR

> The X3 there is discussing the view of 73" "1 who maintains that D°¥W n9°9X is w7y (just as the MW
7xmw of a yw). He derives it from this 109 which begins with 1¥pwn %X (inferring an 79°2% 70°K) and
concluding Rnu? (referring to nXMW) to teach us that 7998 MY is XMW Ny w. The X713 then cites another
X711 of 731 " that 0°¥ W n2°5X is N°122. The &7n3 resolves this contradiction, saying that My wd 72208 Nyw
XMW is only by the 0°¥W ' which the 7109 of pwn 9X is referring to; for it concludes 237 *n?727 WX
Xnub, indicating that we are discussing only the 2°¥Ww ' which are distinct because they are Xnun.

% See 1 MX oW Xaw 277 MIANTAY K"AWIT MO and TP MK 2.
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